




























1) If two variables x and y are highly correlated then y can be estimated for a given value of x using regression
equation of y on x.

2) If the regression equation of x on y is 2x + 7y =135, the estimated value of x when y=17 is ____

3) If the two regression coefficients are b   =3 and b  =1/3 , the correlation coefficent is ______

4) for 10 pairs x and y values, the regression coefficient can be ______
a) 1.2 and 0.8 b) 1.2 and 1.1 c) 1.2 and -0.2

Ans: a) 1.2 and 0.8








